(ones(§)seprens] Kitchen & Bath
WeGot lt-
Slip Joint Washer Brass Friction Rings
+ CARTON QUANTITIES ONLY « CARTON QUANTITIES ONLY

Sauare Cut Rubber e PARTNO.  NUT TUBE 0D xID CTN/MSTR
Square Cut T86050 12 38" 21/32° x 25/64° 100100
PART NO. NU/T x TUB/E” Bl\lllA'lI('I}EqRIAL CTN//MSTR 786052 e HE 21/32"x 29/64" 1001100
17125 1-1/"x 1A ack Rubber 100/5600 T86053  Ballcock  1/2” 13/16"x 17/32” 100100
T79150  1-1/2'x 1-1/2" Black Rubber 100/5600 T86054  Balcock 98 131167 25/64" 1001100
T79151 14/ x 1114 Black Rubber 100/5600 cos - X9
179000 2'x 2" Black Rubber T 186055  Ballcock  7/16 13/16"x 15/32 100100
779201 2'x1-1/2° Black Rubber 100/2400
Beveled Flanged Poly Tailpiece Washer
PARTNO.  NUT xTUBE MATERIAL CTN/MSTR - CARTON QUANTITIES ONLY
780125  1-1/4"x 1-1/4" White Rubber 100/5000 4
780135 1-1/4"x 1-1/4" Blue Rubber 100/5000
780150  1-1/2'x 1-1/2” White Rubber 100/5000
T80160 1-1/2"x 1-1/2” Blue Rubber 100/5000 PART NO. NUT xTUBE CTN/MSTR
780151 1-1/2x 1-1/4” Blue Rubber 100/5000 81150 11/2°x11/2" 100100
T80200 2'x2 White Rubber 100/5000 T79152  11/2°x 1 1/4’ cloth inserted 100/100
Slip Joint Nut and Washer Waste Connector

+ Chrome plated nut packed with
square cut rubber washer

[

et

- CARTON QUANTITIES ONLY
FIP x SLIP MIP x SLIP Brass Compression Ring
Die Cast Nut Brass Nut * Brass body ferrule and nut
Die Cast Nut * MIP units are combination female sweat
PART NO.  DESCRIPTION MATERIAL CTN/MSTR FIP x SLIP
T77014 1-1/4" x 1-1/4” Die Cast 25/500 PART NO. DESCRIPTION CTN/MSTR
T77012 1-1/2"x 1-1/2" Die Cast 25/500 T75125 1-1/4" FIP x 1-1/4” OD 12/72
T77013 1-1/2" x 1-1/4” Die Cast 25/500 T75150 1-1/2" FIP x 1-1/2” OD 12/72
T77020 __Zx2 Die Cast 251500 T75151 1-/2" FIP x 1-1/4” OD 12/72
L T75250 1-1/2" FIP x 1-1/2" OD with poly washer 12/72
PART NO.  DESCRIPTION MATERIAL  CTNMSTR by sup
178014 1-1/4" x 1-1/4” Brass 25/400
78012 1-1/2x 1-1/2° Brass 25/400 PART NO. DESCRIPTION CTNMSTR
78013 1-1/2x 1-1/4” Brass 25/400 176125 1-1/4”MIP x 1-1/4” OD 12/72
178020 2" x 2 Brass 25/400 T76150 © 1-1/2” MIP x 1-1/2" OD 12/72
T76151 1-1/2” MIP x 1-1/4” OD 12/72
[:one S|ip Joint Washer T76250 1-1/2” MIP x 1-1/2” OD with poly washer 12/72
. Brass Compression Ring
{_ : PART NO. DESCRIPTION CTN/MSTR
! 175000 1-1/4’ 0D 1/1000
L e « Black rubber 175001 1-1/2”OD 1/1000
B e + CARTON QUANTITIES ONLY
pr— Double Sllp Flttmgs
T85054 T855 \ m
Coupllng 90° Elbow 45° Ellbow
PARTNO.  NUT TUBE 0D x ID CTNMSTR . Chrome plated brass
T85050 1/2 3/8” 23/32"x 3/8" 100/1600 * 22 gauge
T85051 1/2” 3/8” threaded 23/32" x 3/8” 100/1600 PART NO. DESCRIPTION CTN/MSTR
T85052 12 716" or 1/2" 518" x 716" 100/1600 T74001 1-1/4” coupling 10/100
T85053  Ballcock supply 314" x 716" 100/1600 T74002 1-1/2” coupling 10/100
T85054  Ballcock supply 13/16"x 11/32" 100/1600 T74003 1-1/4"90° elbow 10/100
T85055 Upper bath supply 27/132"x 716" 100/1600 T74004 1-1/2” 90° elbow 10/100
T74005 1-1/4” 45° elbow 10/100
T74006 1-1/2" 45° elbow 10/100

ﬂltems marked with the Jones Stephens logo are “You Need It...We Got It’ Items.

Jones Stephens | Phone 1-800-355-6637 | Fax 1-800-462-6991 | www.jonesstephens.com 71



(ones(§)seprens] Connectors
WeGot It-
Square Gut Rubber Slip Joint Washer PVC Marvel Adapter
+ CARTON QUANTITIES ONLY =
= * Thread x Hub
PART NO. NUT x TUBE CTN/MSTR
T79125 1-1/4"x 1-1/4” 100/5600 PART NO. SIZE CTN/MSTR
T79150 1-1/2"x 1-1/2" 100/5600 P37000 1-1/2"PVC 1/100
T79151 1-1/2"x 1-1/4” 100/5600 P39000 1-1/2” ABS 1/100
T79200 2'x2 100/2400
T79201 2'x1-1/2" 100/2400 Trav Plug
T79152 1-1/2" x 1-1/4” cloth inserted 100/1000 J
. . - o + Stainless steel body with die cast
Poly Beveled Slip Joint Washer e sink
+ Complete with washers and stopper
,p"'" - + CARTON QUANTITIES ONLY
. ¥ PART NO. DESCRIPTION CTN/MSTR
— B02051  Tray plug 1/100
PART NO. NUT x TUBE CTN/MSTR
T80125 1-1/4"x 1-1/4” 100/5000
T80150 1-1/2"x 1-1/2” 100/5000 FIP X SI'IP waSte co““ector
180200 2'x2 100/5000 + Brass body ferrule and nut; OD is
copperltubular dimgnsipn
LDP Blue snp Jo"]t washer . ILAJVZ;[nlts are combination female
* With stop
PART NO. FIP x OD CTN/MSTR
+ CARTON QUANTITIES ONLY T75125 1-4/4” x 1-1/4” 1272
T75150 1-1/2"x 1-1/2" 12/72
T75151 1-1/2"x 1-1/4” 12/72
PART NO. NUT x TUBE CTN/MSTR
T80135 1-1/4"x 1-1/4” 100/5000 MIP X SLIP Waste connector
T80160 1-1/2"x 1-1/2 100/5000
180151 1-1/2"x1-1/4" 100/5000 * Brass body ferrule and nut; OD is
copper tubular dimension
=y * MIP units are combination female
Flanged Poly Tailpiece Washer et
v * CARTON QUANTITIES ONLY PART NO. MIP x OD CTN/MSTR
T76125 1-1/4"x 1-1/4” 12/72
T76150 1-1/2"x 1-1/2” 12/72
PART NO. NUT x TUBE CTN/MSTR T76151 1-1/2"x 1-1/4” 12/72
T81150 1-1/2"x 1-1/2" 100/5000
T79152 1-1/2" x 1-1/4” cloth inserted 100/5000 Flexible Trap Drain Connector
Marvel Ring l
‘ ‘ + Use on closet/urinal stub out adapter
x:_-.__._ -— PART NO. DESCRIPTION CTN/MSTR
--...i = T06001  Connects 1-1/4™- 1-1/2" tubular to 1-1/4"- 1-1/2” tubular 1/180
T06002  Connects 1" DWV or 1-1/2"CTS to 1-1/4"- 1-1/2" tubular 1/100
PART NO. FSWT x MIP CTNMSTR 706003 Connects 1-1/2" DWV or CTS to 1-1/4" 11/2' tubular 1/100
B55004 1-1/4"S) x 11/4” SWT 171000 T06004  Connects 2’ DWV to 1-1/4™ 1-1/2" tubular 1100
B55005 1-1/2"SJ x 1-1/2” SWT 1/500
B55006 2’SJx 2" SWT 1/500
B55007 1-1/2" SJ x 1-1/4” SWT 1/500

Jones Stephens | Phone 1-800-355-6637 | Fax 1-800-462-6991 | www.jonesstephens.com 335





